

First Preference Vote

WARD 11 CITY CENTRE

Electorate	13943	Turnout 2012 (%)	36.6
Votes cast	5101	Turnout 2007 (%)	50.8
		Change 2007- 2012	-14.2

Sucessful Candidates

Party	stage number
Scottish Labour Party	Six
Scottish Conservative and Unionist	One
Scottish National Party (SNP)	Тwo
	Scottish Labour Party Scottish Conservative and Unionist

Candidates on ballot paper

		20	012
Name	Party	Valid Votes	Share (%)
lain James COLEMAN	Scottish Liberal Democrats	402	7.9
Karen DORAN	Scottish Labour Party	1080	21.3
Karen Michelle HETHERINGTON	Liberal Party in Scotland	51	1.0
Julita MAZUREK	Scottish Green Party	864	17.1
Joanna MOWAT*	Scottish Conservative and Unionist	1402	27.7
Alasdair RANKIN*	Scottish National Party (SNP)	1264	25.0
	Total Valid votes cast	5063	
		2012	2007
	Rejected papers	38	73
	Change 2007-2012	2 -35	



Share of First Preference Votes 2007

Scottish Conservative and Unionist	20.2%
Scottish Green Party	17.0%
Scottish Labour Party	18.0%
Scottish Liberal Democrats	19.9%
Scottish National Party (SNP)	20.4%
Liberal Party in Scotland	-

Pre election seats

Scottish Liberal Democrats Scottish National Party (SNP) Scottish Conservative and Unionist

LIVE ELECTIONS MAY 2012

Election Results City Centre Ward 04/05/2012

Total Number of Ballots Received	5101
Total Number of Valid Votes	5063
Number of Vacancies	3
Quota	1266

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of Joanna MOWAT	Stage 2	Surplus of Alasdair RANKIN	Stage 3	Exclusion of Karen Michelle HETHERINGTON	Stage 4	Exclusion of lain James COLEMAN	Stage 5	Exclusion of Julita MAZUREK	Stage 6	
lain James COLEMAN	Scottish Liberal Democrats	402	37.34500	439.34500	0.56263	439.90763	23.24557	463.15320	-463.15320	0.00000			
Karen DORAN	Scottish Labour Party	1080	13.38600	1093.38600	1.10136	1094.48736	6.68974	1101.17710	134.19988	1235.37698	541.82200	1777.19898	Elected
Karen Michelle HETHERINGTON	Liberal Party in Scotland	51	7.46900	58.46900	0.14680	58.61580	-58.61580	0.00000					
Julita MAZUREK	Scottish Green Party	864	22.79500	886.79500	2.73917	889.53417	17.60637	907.14054	204.31772	1111.45826	-1111.45826	0.00000	
Joanna MOWAT	Scottish Conservative and Unionist	1402	-136.00000	1266.00000	0.00000	1266.00000	0.00000	1266.00000	0.00000	1266.00000	0.00000	1266.00000	Elected
Alasdair RANKIN	Scottish National Party (SNP)	1264	8.24500	1272.24500	-6.24500	1266.00000	0.00000	1266.00000	0.00000	1266.00000	0.00000	1266.00000	Elected
Non-transferable votes		0	46.76000	46.76000	1.69504	48.45504	11.07412	59.52916	124.63560	184.16476	569.63626	753.80102	
Total		5063	=	5063.00000	=	5063.00000	=	5063.00000	=	5063.00000	=	5063.00000	

LIVE ELECTIONS MAY 2012 Declaration of Results City Centre Ward 04/05/2012

I declare that the result of the election in the City Centre Ward is as follows.

There are 3 councillors to be elected.

The percentage poll was 36.58%. There were 5063 valid papers and 38 rejected papers.

The quota of votes for a candidate to be elected is 1266.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

	Preference Votes	Stage at which candidate has been elected
Iain James COLEMAN	402	
Karen DORAN	1080	6
Karen Michelle HETHERINGTON	51	
Julita MAZUREK	864	
Joanna MOWAT	1402	1
Alasdair RANKIN	1264	2

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	10
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than	
one candidate	15
On which anything is written or marked by which the voter can be identified except the printed number and	
other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	13
Total number of ballot papers rejected	38

Signature Returning Officer

LIVE ELECTIONS MAY 2012 Preference Summary Report City Centre Ward 04/05/2012

Total Number of	
Valid Ballots	5063
Quota	1266
Percentage Turnout	36.58

	Number of 1st	Number of 2nd	Number of 3rd	Number of 4th	Number of 5th	Number of 6th
	preference votes for					
Candidate Name	each candidate					
Iain James COLEMAN	402	793	565	219	108	32
Karen DORAN	1080	641	455	170	144	78
Karen Michelle HETHERINGTON	51	258	450	255	220	60
Julita MAZUREK	864	1283	578	191	100	34
Joanna MOWAT	1402	352	225	100	89	209
Alasdair RANKIN	1264	489	303	97	85	225

LIVE ELECTIONS MAY 2012 Transfers Report City Centre Ward 04/05/2012

5000

Valid Ballots	5063
Positions to be Filled	3
Quota	1266
Stage 1	First Preferences
Iain James COLEMAN	402
Karen DORAN	1080
Karen Michelle HETHERINGTON	51
Julita MAZUREK	864
Joanna MOWAT	1402
Alasdair RANKIN	1264

Joanna MOWAT Elected with 1402 over quota 1266

Stage 2 - Surplus of Joanna MOWAT			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to lain James COLEMAN	385	0.097	37.345
Transfer to Karen DORAN	138	0.097	13.386
Transfer to Karen Michelle HETHERINGTON	77	0.097	7.469
Transfer to Julita MAZUREK	235	0.097	22.795
Transfer to Alasdair RANKIN	85	0.097	8.245
Non-transferables	46.76		

Stage 3 - Surplus of Alasdair RANKIN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to lain James COLEMAN	19	0.00047	0.00893
Transfer to lain James COLEMAN	113	0.0049	0.5537
Transfer to Karen DORAN	224	0.0049	1.0976
Transfer to Karen DORAN	8	0.00047	0.00376
Transfer to Karen Michelle HETHERINGTON	10	0.00047	0.0047
Transfer to Karen Michelle HETHERINGTON	29	0.0049	0.1421
Transfer to Julita MAZUREK	557	0.0049	2.7293
Transfer to Julita MAZUREK	21	0.00047	0.00987
Non-transferables	1.69504		

Stage 4 - Exclusion of Karen Michelle HETHERINGTON			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to lain James COLEMAN	1	0.00047	0.00047
Transfer to lain James COLEMAN	9	0.0049	0.0441
Transfer to lain James COLEMAN	20	1	20
Transfer to lain James COLEMAN	33	0.097	3.201
Transfer to Karen DORAN	7	0.097	0.679
Transfer to Karen DORAN	6	1	6
Transfer to Karen DORAN	2	0.0049	0.0098
Transfer to Karen DORAN	2	0.00047	0.00094
Transfer to Julita MAZUREK	16	0.097	1.552
Transfer to Julita MAZUREK	1	0.00047	0.00047
Transfer to Julita MAZUREK	11	0.0049	0.0539
Transfer to Julita MAZUREK	16	1	16
Non-transferables	11.07412		

Stage 5 - Exclusion of lain James COLEMAN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Karen DORAN	4	0.00047	0.00188
Transfer to Karen DORAN	30	0.0049	0.147
Transfer to Karen DORAN	83	0.097	8.051
Transfer to Karen DORAN	126	1	126
Transfer to Julita MAZUREK	190	1	190
Transfer to Julita MAZUREK	145	0.097	14.065
Transfer to Julita MAZUREK	51	0.0049	0.2499
Transfer to Julita MAZUREK	6	0.00047	0.00282
Non-transferables	124.6356		

Stage 6 - Exclusion of Julita MAZUREK

Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Karen DORAN	10	0.00047	0.0047
Transfer to Karen DORAN	187	0.0049	0.9163
Transfer to Karen DORAN	133	0.097	12.901
Transfer to Karen DORAN	528	1	528
Non-transferables	569.63626		